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QUESTION 1

Scenario: A Citrix Architect needs to design a new XenApp and XenDesktop environment.

The architect has identified the access requirements listed in the Exhibit.

Click the Exhibit button to view the requirements.
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* Users must be presented only with the specific authentication method.
* Users will be using a mix of both native Receiver and Receiver for Web.
* MetScaler authentication policies will control remote access.

A single store has already been configured with the following settings, every other setting has been kept as a default.

Username/Password authentication No resource filtering NetScaler Gateway is configured for authentication No 1IS
redirection Deploy Receiver 4.10 installer

The architect needs to evaluate whether the current store, which cannot be changed, meets the requirements of the

user groups and needs to determine how many additional stores are required.

How many additional StoreFront stores does the architect need to support the requirements shown in the Exhibit?

Al

B. 4

E.2

Correct Answer: E
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QUESTION 2

Scenario: A Citrix Architect has designed an active/passive XenApp and XenDesktop environment for a customer,
where the passive datacenter serves as the disaster recovery (DR) datacenter for all users.

The following has been configured: NetScaler Gateways in both datacenters, each with a unique URL NetScaler load
balancing of StoreFront and Delivery Controller XML services A separate XenApp and XenDesktop Site at each
datacenter Two StoreFront servers deployed in each datacenter aggregating resources from the Delivery Controllers in
the respective datacenter During a disaster recovery strategy review, the IT infrastructure director recommends
exploring cloud-based disaster recovery options for the XenApp and XenDesktop environment. The director reminds the
team that the new solution would also have to support the following objectives: The DR environment needs to be fully
functional in the event that the primary datacenter goes completely offline. The DR environment should require minimal
operating costs until it is needed to host active user sessions. In a DR event, active user sessions should connect
directly to the resource location without going through additional hops. The architect develops four different conceptual
diagrams to display the current architecture as well as the potential cloud-based DR locations.

Click the Exhibit button to view the conceptual diagrams.
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Based on the diagrams and above requirements, which Site architecture should the architect use?
A. Option 4
B. Option 2
C. Option 3
D. Option 1

Correct Answer: D
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QUESTION 3
Scenario: A Citrix Architect needs to design a new XenDesktop environment for a client who does NOT currently have a
Citrix environment. The project scope has NOT yet been determined, and the architect is about to start the Assess

phase of the project.

In which order should the architect complete the four tasks of a typical assessment when following the Citrix
methodology?

A. Define the organization, Define the user groups, Define the applications, Define the project team.
B. Define the user groups, Define the applications, Define the organization, Define the project team.
C. Define the project team, Define the organization, Define the user groups, Define the applications.
D. Define the organization, Define the project team, Define the user groups, Define the applications.

Correct Answer: D

QUESTION 4

Scenario: A Citrix Architect needs to design a new XenApp and XenDesktop environment.

The table in the Exhibit lists details about the requirements of the current user groups and their Virtual
Delivery Agent (VDA) machine workloads.

Click the Exhibit button to view the table.

User Group 1 Scalability Desktop Heavy 6:1 4 30 1
User Group 2 | User experience Server Medium 1:5:1 16 18 20
User Group 3 Scalability Desktop Medium 6:1 2 40 1
User Group 4 Scalability Server Medium 1:5:1 6 27 20

At a minimum, the architect should scale the hardware used to host the VMs for User Group 1 GB of

RAM.

A. 128

B. 64

C. 384

D. 512

E. 256

Correct Answer: E
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QUESTION 5

Scenario: A Citrix Architect needs to redesign an existing XenApp and XenDesktop environment to use Machine

Creation Services (MCS). During the design discussions, the locations for the MCS-provisioned thin clone machine
disks are proposed as shown in the Exhibit.

Click the Exhibit button to view the details.
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Which potential concern should the architect address with the customer before proceeding with this configuration?
(Choose two.)

A. Itis limited to NFS shared storage.

B. It will require substantial read IOPS from the shared storage location during machine creation and updates.
C. It will require substantial write IOPS to the shared storage location as temporary data is written.

D. It will require more storage to be allocated on the VM hosts compared with other options.

E. Itis limited to certain hypervisors.

Correct Answer: CE
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